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5 SPECIAL INSTRUCTION TO THE INVIGILATORS
% [oe191 9891060 NG 04 G3R! (PART - 1- OBIECTIVE) §§ QQIRBIZIFIER QIg6Q 6964 |
0QIal g 81GQ QP9 RAIERAILE GIRIQ OR Q168 A AR XIS R |
'3; The Candidates shall take away this Question Booklet (PART-1-OBJECTIVE) after
¥ lthe examination of this subject is over. It is. important that the invigilators should | !
3 verity the Booklct of the candidates beforeleaving the examination hall/room. $
o - — ~u B k:
PART T OBJECTIVE (MCQ) ¢
#| 3
i OBJECTIVE QUESTION BOOKLET i
AR/AXR -15-MTH
¥ =~ B
MTH — MATHEMATICS (986)
k2 kN
LIS [ Cr 1Y
': ! ™ EE",
SET: | D g
4 _ S|
QeIaIdis HA6s 4oa!
INSTRUCTION TO CANDIDATES
é 9¢ 94 Q8RI6R S0C Go9 Qaeee gd JUNIRE | gESHR 99e aaa OMR TR 2R REAAIRAISR ‘-
T 600 YRGS | 3
-:L This Question-Booklet contains 50 multiple chotce questions. The candidates are required 1o 3}_
s answer the questions as per the imstructions given in the OMR Sheet. ;_:E_
**.{:*~ Sesiadiatiasisdladioviadiaisieviosizsianie sizsfesfesiesiastasizladiasiatiovasiotiostoviodiociodtadiudiosiodivdiada o L
AR/AXR-15-MTH-P-I | P.T.0.
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SET: | D

Q9 : 1941 15 6%
Time : 1 Hour 15 Minutes Qg Qg : 50
TR @ % &e) lTﬂkC‘w= 22 Full Marks : 50
7

& Coueisn 506 gF CaRg | gEeve G4R PIERS 08 QRR CLIRE | 60000 Op 98ad
QiF OMR @88 068 @'G9 §O67 @R/ FIR 97 094 oan 9191 a9 gise 9.3/ ;EQ 9:’95'
In this Part 50 questions are given. Lach question has four alternative an
e answers. Cl :
answer from them and darken the appropriate circle completely in the OMR Sheet :33;%?5;3}?;?
ball point pen only.
g664a gage) a1 1 (&) 746 /
Each guestion carries 1 (one) mark.
aag 46 Q6K € |
Answer all questions.

1. ABCD is a eyclic quadrilateral. Measure

1. ABCD 4@ QeIefge 9g@e1 ZBAD
Q 08I0 606 108 S9! oA 2EER 699 ? of ZBAD-is equal to the half of the degree
J— . measure of which arc ?
(A) E(_TEJ (B CDA (A) BCD (B) CDA
(C) CBA (D) DAB (C). CBA (D) DAB

2. “Which of the following statement is false ?

2. §0Q 609 Q36 g 266 ?
(A) Chords of a circle equidistant from

(A) 696N QR6A 605 OIR ANQASE!

NS 6761 AR O the centre are of equal length.
B/G*l ~ ~ N (B) Of any two chords of a circle, the
(B) 6010 geR 4ae 60, 695 019 length of the one farther from the

QERe IR 6 QU 63y centre is smaller than the length of the
o8 @ C g!f"l " hords of letheb
= (O) any two chords of a circle the bigger
© GGIF\Q 00 406 &l mj_ﬁ] 70 one isyfanher from the centre than the
SIS ey OIn AL @Qﬁ“ other.
- ~ (D) In a circle the angles subtended b
(D) 6QIG GRA YR AN Gl SRFOIGH lwo congruent chmgds at the centre arg
congruent.

600 6916 QYR @AE 6AAIEH ASAN

Qg FAQ! QIR/SPACE FOR ROUGH WORK

AR/AXR -15-MTH-P-l Contd.
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2

3, GQR AUP 604 ANIAGEA 6RIEA QIS
el ?
(A) x2—2xr8=0
(B) X +5x+3=0
&f K -d4x+4=0
(D) 3x2+7x+5=0

4 6x + 11x+k =0 QAIRQER 6QIGN Q1@

2 QIGPR IRN 6261, kAR
g eal

(A) 6

1
(B) ¢ -

D) —
()6

5, AABC ga ZABC Q6Qié %’@@BD L.AC

6260, BCY = CD x o
Q\é

(V @$
(B) DB
(C) CA
(D) BA

SET : D

3. Which of the followin
has no rea| value ?

g quadratic cquation

(A) xX*-2x-g=g
(B) X +5x+3=¢
(€) x’-dx+4=0
(D) 3’ +7x+5=0

4. Ifonerootof 6x°+ | Ix +k=0be reciprocal
of the other root, find the value of k.

(A) 6
1
(B) %

11
O

5 U
(}6

5. In AABC, ZABC isz, right angle and
BD L AC, then, BC"=CD x

(A) DA
(B) DB
(C) CA
(D) BA

Qq 59! AIR/SPACE FOR ROUGH WORK

AR/AXR - 15 MTH - P-I

P.T.O.
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6. 600 980 G@e AGH ANTE R 266 ?

(A) §9F A98 GRER 69QTR QIR 626M.
3eT0 Q8N

(B 69154 SREQ GRT 6816 QAIFEN ARY
R GHFR {AC 6RI6 AT QTN 6UEM,
9% 90 Q3Q9

(€) QYEERIEN GRS FOR AFRO AAIRED
6904 AAIGAIGT

(D) 98¢ AQH GPFN 6ALTRA AGAIC,
09 GRETaa 0QINIR SAIgaIS
Qe QIR

7. QIF CIPQ QIR 591 699! O6Q AIGE A9 2N
Qdus 606 oG 2860 RN, QIRG ¥4
QU ?

(A) 699189 9L
(B) £o99IQ 300!
&Y 200 21391 98! ,2;\%
(D) 981 9GS GEG! $&5
8. QIFRNVAGEER G‘q&&n eQIQILeC

CNGQ QI 9 @42

(A) Compressed Normal Gas
(B) Cenified Natural Gas
(C)/ Compressed Natural Gas
(%) Consumer Numeral Gas

"~

SET: | D

6. Which statement is false related to triang),
similarity ?

(A) If the arca of two similar triangles
is equal, then the triangles are
congruent.

(B) Iftwo angles of a triangle respectively
congruent with the two angles of
another triangle, then the triangles are
congrucnl.

(C) Sides of two similar angled triangles
are proportional to lengths.

(D) Ratio ofthearca of two similar triangles
is equal to_the duplicate ratio of the
perimeter of those two triangles.

7. .The distance covered by a vehicle before it
stops; after application of the brakes by the
driver is known as

(A) Braking distance
(B) Reaction distance
(C) Stopping distance
(D) Chasing distance

8. What is the full form of CNG, which is used
in vehicles ?

(A) Compressed Normal Gas
(B) Certified Natural Gas
(C) Compressed Natural Gas
(D) Consumer Numeral Gas

Qe @ASI QIR/SPACE FOR ROUGH WORK

AR/AXR - 15-MTH-P-1

Contd.
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QR C6a PA = 86QA.PB = 18 695
PC = 6 697 696M. PD 6960 699 ?

(A) 16 6a@t

(tl}/zﬁ 6Qf

06 ediadi Qo Quais 2 6afi G 8 6ad|
99 T0Q 9@ QAR QN QEe Q0GR AEEE

p ;}) GI6R. PQ Q 654y 6960 689 ?
( 12 6Qf

(B) 24 6Qf
(D) 14 6Qd

10.

(B) 8 6ad
(C) 14 696
(D) 16 6Q6

Q
Q
6\\

: o Q
1. yoOee cague dda ﬂ%@'@@ Al

2

QAN CREQ QIGR 3ALEO6E?
g R g@@
(A) "}'_-‘” N@@ (B) 3\FE Qe
m

n

ts/i L2

( we (D) - [Z9ee
3y 3Vn

SET ;

B
A
9.
C
D
In the given figure PA = 8 cm, PB = 18 cm
and PC = 6 cm. Find the length of PD.
(A) 16cm (B) 2dcm
(C) 26cm (D) 14 cm
10.

Radius of two externally tangent circles are
2 cm and 8 cm. P and Q are the point of
contact_of direct common tangents of the
circles. What is the length of PQ ?

(A). 12cm
(B) 8cm

(C) ldcm
(D) l6cm

11, Whatis the length of the side of an cquilateral
triangle which is inscribed in a circle of area
v square unit ?

By ly
(A) \’f unit (B) B\ﬁ unit

Un“ (D)’ lﬁ unit
iVn

f—

i

QY RS QIR/SPACE FOR ROUGH WORK
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b

12. 90 60 4Q CAING AIPE T3 9gQ ORI

A9 2100 AQ. 6060 ARGAQ 21AGR
V6 699 ?

(A) ofae
(B) «fde
() Qeqe eee
(D) Qefe i

13. 906 aQ QMIRAER AARIR AAS FEEA.

SAAIRE IR YO CRIGER 990 FAR 629 ?
(A) 099 68016269

(B) 28R 626R
(C) QAIBR 66%

(D) ofeeqd

14, koeeaamuae x-2y=3,3x+ky=1
qymsma QR5Q 2ORY QARG QAR ?

(R) k=6 (B) kg
(C) k=3 (D) k@*
K

15. cos 75° Q ()@ 6@6Q 2 Q\

SET: [ ]

12. If we change the shape of an object from

a sphere to a cylinder, then the volume of
cylinder will

(A) Increase

(B) Decrease

)
(C) Doubles
(D) Remain unchanged

13. If two simultaneous equations have no
solution, then what will be the nature of the
graph representing these two cquations ?

(A) Intersect each other
(B) Coincident

(C) Parallelto each other
(D) Can’tsay

14.. For what value of k, the system of equations
X -2y = 3. 3x + ky = | has a unique solution ?

(A) k-6 (B) k#6
(Cy k=3 (D) k=4

15. What is the valuc of cos 75° ?

S

W b1 575 W ® 0
NEP V3 +1 ©) 3 -] \ﬁ+_l

© S O LA 22 ®) 5

QT KRG YIR/SPACE FOR ROUGH WORK

AR/AXR-15-MTH-P-I

Contd.
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(6. 6ad 98 AQINER 6A1ER ARC Q1 ALRT Fgia

CRINIRAIEA ?
mz{ Qesgiica  (B) 6€9IIQQ
(C) QEFIGQ (D) 2BELINRT

SET: | D

16. Which instrument is used to measure the
angle of clevation or depression ?

(A) Hygrometer (B) Protractor

(C) Clinometer (D) Theodolite

C
/ 120°
A
17 17. 0 B
D
o @QGQKAB Ya il £COB = 120° In the given figure AB is the diameter.
S26R. ZADC 9. QRAI9 6066 ? £COB = 120°, find the value of ZADC.
(Vﬂ" By 45° (A) 30° (B) 45°
(& 60° (D) 90° (C). '60° (D) 90°
18. 691519060 IR Y1 6Q5 0I6Q 60° 6RIE 18. Chord of a circle forms an angle 60° at its
QYR Q61 9910 53 63 6af 6TER. centre. If its length is 643 cm, what is the
605 019 41 90 ARG AQ 63y ? length of the altitude drawn from the centre
%Q\ to the chord ? https://www.odishaboard.com
(‘w @ (B) e (A) 6f3cm  (B) 9¥3cm
(¥) 6 6Qf @9 cQaf (C) 6¢cm (D) 9cm
$
19. 933.3,5,x,7613 @ Q&aiRG 99,6862 | 19 If6 is the mean of data 3, 3,5, %, 7and 13,
NEIQ 9899 6560 629 ? then what will be the mode ?
(A) 3 B) 5 (A) 3 (B) S
(?76/ (D) 992385 (C) 6 (D) Both3and5
-E——
QaQ Q@OQ! 9IR/SPACE FOR ROUGH WORK
AR/AXR - 15~ MTH_p.1 7 P.T.O.
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@ SET :

20. M’ QRIQIS 8] N Q°WR AQISAING F1UQ 20. "M is the mean of n number of scores If

JecHRq 5 F101 NIQ @6R GO AQUITNINER each score 1s divided by 5. what wil be the
ORI 6260 690 ? mean of the new scores formed
(A) M @) M (A) M ) M
/ 5 5
(é'( 5M (D) M-5 (C) SM (D) M-5
21. QI a@fij‘ O} 9@ R ADGR 1232 A9 21. The volume of a conical tent is 1232 m'land
€168 8 QG 6BCTR 154 Q4 FicRI 60 the area of its base floor is 154 m®. What IS
WP 646C ? the height of the tent ?
(ZVﬁ (B) 144 (A) 7m (B) 14m
&f 244 (D) 184 (C) 24m (Dy 18m
22. 99 6QIC 6QINGRQ QIS 10% AN, 6069 | 22, Ifthe radius of a sphere is decreased by 10%,
QIR AAGR 6R6C AORG! AAITR? then volume of sphere will be decreased by
what percentage ?
(A) 25.6%
(A) 25.6%
(B) 30.6% (B) 30.6%
(;‘)/27.1*1@ S\\@ (C) 27.1%
) 32.5% ,§’ (D) 32.5%

N
23. 30Qaf =l qéeg&%@m 270 6vew. 64 23. Product of two consecutive multiples of 3
is 270. What will be the smallest multiple

among these two ?

( 12 (B) 15 (A) 12 (B) 15
() 27 (D) 18

Q08 AuQ GO FERT 6R60 689 ?

(C) 27 (D) 18

QT @8Q! QIK/SPACE FOR ROUGH WORK

AR/AXR-15-MTH-P-l 8 Contd.
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24.

25.

26.

27.

50 956® NP 696C §A 2657
(A) coaaggaat =n- 1
o1 4@ A.P. 69!
) 6Q6@EQ ANERIET Gpea QIgga A.P.
6q aaIR6
(C) 5.9 QeMGAA.PER Q6. x 26
699

(D) 600 2GYN8 S, =

QIR ¥R A.P. 260
A(2.-5) 8 B(5, 2) @9 90 6010 *Q2a
6RUISeq 2: 3 AGOISER 28RS AL
306 60 QI06a 2996 ?

(A) 1 (RY 11
(C) 1l (D) 1V

n(n-1)
2

cait §gea a18ea (0. 0), (3,0) 6 (0, 4)
66R, SRERLA ARIE 66 6V ?

I 49
2.2 4
(A) [2 ] (%.?J
(©) (1,1) 50)3)

G309 696 80 1@ 6JI0e A98IR 9814 °?

(A) 9@ QKR Q88 ae8l

(B) AR QaI0IR §89 acdl

() 0f 9caIgee 9@ INAse a6 Fee
(D) a8 (A)B(B)

e—

SET: | D

24. Which of the following statcment is false ?

(A) A sequence such that t =n-| is an
A.P.

(B) Sides of any right angled triangle will
be inan A.P.

(C) If5, x,9arcinA.P., then x 6

n(n-—l)is

(D) A sequence such that § =
anA.P.

25, The point which divides the line segment

joining the points A(2, -5) and B(5, 2) in the
ratio 2 3 intermally lies in which quadrant ?

(B) II
(D) IV

(A) 1
(C) I

26. The vertices of a triangle are (0, 0), (3, 0)

and (0, 4). The centroid of the triangle is

|
(A) (;2] B) (|§)

€) (.1 (D) (0,3)

27. Which of the following statement defines a

compound event ?

(A) An event that has only one element

(B) Events with multiple elements

(C) If the events cannot occur
simultaneously

(D) Both(A)and (B)

Qe @5Q! AIR/SPACE FOR ROUGH WORK

AR/AXR-15-MTH-P-l
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SET: | D

28. A number is selected at random from firy

Download all NOTES and PAPERS at StudentSuvidha.com

28. QA 50 § URINR Q"SI AU AR 6AISN ber is
QY QIFER, G121 3 8 4 Q GECR 62913 50 positive integers, then what will be i,
QAICYD! 6060 ? probability that it is a multiple of 3 and 4°
A - ®) - A) 2 B) ~
(A) /50 25 (A) 50 25
! 2 o - D) =
29. A, B, C 4@ GReQ S6R1G 6R1€ 6261, 29. If A, B, C are the angles of a triangle, then
tanA + tanB + tanC = (g7 tanA+tanB+wanC =
(A) cotA+cotB+cotC (A) cotA+cot B+ cotC
(B) tanA-tanB-tanC (B) tanA-tan B -tan C
(/;nA.tanB.tanC (C) tanA . tanB .tanC
(D) cotA.cotB.cotC (D) ecotA.cotB.cotC
30. Q8Q AT 606 626M 6a2 90Q 11 6Qf 30. -What will be the radius of the circle, such that
Q686 c10a 691 01T 10° 62e? degree measure of its 11 cm arc1s 10°?
9 ~ 9
(A) — 6Qf (B) 63 Sl (A) =cm (B) 63 cm
2 S 7
(&Y 126 6Qf (D) g@é QA (C) 126 cm (D) 12.6cm
- Sy
31. Q< A(l, 2),0(0,0) @f(a. b) @gga 31. If the points A (1, 2), O (0. 0) and C (a, b) I
NR6RY GG, 606Q are collinear, then
(A) a=b (A) a=b
(B) a=2b (B) a=2b
(©) 2a=b (C) 2a=b
(D) a=-b (D) a=-b
QQ @A QIG/SPACE FOR ROUGH WORK
AR/AXR -15-MTH-P-I 10 Contd.
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7 SET: | D

32, 6016 geea 61669 88 (4.1, (1.1)8(3.5) | 32. A niangle with vertices (4, 1), (1, 1) and
cac, 421 664 JI6E §9R 629 ? (3.5 is which type of triangle
| (A) aneRIe NG (A) Right angled isosceles
(B) @g-ﬂmg (B) Scalene
(C) ROYeIg (C) Isosceles
(R) Qnsaid (D) Rightangled
13. (.'"- - 3Y) ¢} (y ~ X} Flag <elige ?IQIEF'@ 33. What will be the anthmenc mean be[ween
@O 6Q? | (x~3y)and (y - x)?
2)4‘. - }' B/ -J( 2:( -
A = y z
W = 8 3 W = ®)
(€) = (D) -y o) =2
M. AICNNG6R 3T AN SAB5§ AqR @A 281 | 34. A bag has 3 red balls and S green balls. If
IR FOaQ F6RY A9 6AITN S0 ITen we t{z;ke a ball from the bag without looking
e inside it, then what is the probability of
Ol 6399 QIR IR 62UR ARG 6060 ? getting a red ball only ?
1 nﬂ 1 5
(A 3 ® 2 (A) 3 ®) 3
3 1S 3 !
(Cy = RN o -
2 (D) %S\ © 3 D)
O
3. Qa6 269 6QgeQ @aﬂﬁ Qg F1uea 35. An imaginary line that stretches between
CaRRY Qighie 6@ @6.GRION ? your eye and the object that you are looking
(A) 8@ ard at is known as
_ m_ (A) Angle of elevation
’ B) ealge 200G (B) Angle of depression
(3}‘@0 (A)3 (B) (C) Both (A)and (B)
| — D) Glsaq (D) Line of sight
| Qe Q5! AIR/SPACE FOR ROUGH WORK
AR/
Axﬂ_‘ 15— B'ITH —P-l I Pano..
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36, 08 AUR 6°AT AqA 3G 699 M ?
©(A) RRE QR

(B) 8I4Q 945G
((I‘)J/::JEJQ QngeIg oge
(D) 4gEe AQ Q98 BQ 626

37. o8 §g6q. PQ 1@ 641 we° P 860 ARG ade
PTIZQPT = 60°626m LPRQ @ {}m1 6260 ?

‘
R
< 7 >
By 135° (B) 150°
() 120° (D) 110°

ebgea PQLG P

N
%8 @ R 990 6r5
9% N9 999 GUGEN Q 6 R §gea a4
@601 S 98 0ade 198 9 §0, ¢aadd
£SQL =50° 6 ZSRM = 60° |

|
e g%l Q7 <Q5R what is the measure of ZQSR ?
‘W (B) 60° (A) 40° (B) 60°
S (D) 80° () 70° (D) 80°

36. Which of the following are not similar
figures ?
(A) Circles

(B) Squares
(C) Isosceles triangles
(D) Al of these figures will be similar

37. In the given figure, PQ is a chord and PT s

the tangentat P. ZQPT = 60°. Find the valye
of ZPRQ. -

/)
< P T}

(A) 135°
(C)( 120°

(B) 150°
(D) 110°

In the given figure, PQL and PRM arc tangents
to the circle with centre O at the points
Q and R respectively. S isa point on the circle
such that ZSQL = 50° and ZSRM = 60°,

QT AQ! QIQ/SPACE FOR ROUGH WORK

AR/AXR-15-MTH - P-]

12
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y

.

{0.

4l

2.

03 T Aug §F QTS AR QTR 3

9692 2@ 4Q° QIR QAR 4 Q&I g Aol

0R 5 2R 626R, AR AAIT 6966 ?

(A) 9 (B) 8
(€) 7 (D) 6
1-x=2x* @ Q60Qe Gda Qal
(A) 3 (B) -7
() £3 (D) 9

12 628 QIS Q8] 601G QR 619
0eRQ 2109 6aG2IR adaia T ceem,

109910 6BRT6 6960 689 2 O

(A) 23 1 99 6af

(B) 24 odl ea@
(&Y 16 n od 6af \\Q®
&6
(D} 38 n o4l Q& N
N
3

6915 ARgen egqan cagas 11889460

4Q 18 6Q8 6R6M, APRI6RET 6297

(A) 105 6ad ) 28 6Q@

(C) 146 (D) 21 64Q@

..--""-—___

SET: | D

39. Between two numbers, greater number is 2
more than thrice the smaller and 4 times the

smaller number exceeds the greater by 5.
Find the smaller number.

(A) 9 (B) 8
(C) 7 (D) 6

40. Find the discriminantof | - x = 2
(A) 3
(C) £3

(B) -7
(D) 9

41. The radian measure of any sector of a circle

. I .
having radius.12 cm s — . What will be the
area of that sector ?

(A)123 mem’
(B) 24m ::m2
(C) l6m cm’
(D) 38mem’

d diameter
42. The curved surface area an
of a cylinder are 1188 f:.m2 and 18 cm
respectively. What is its height ?
(B) 283 cm

(D) 2l cm

Qg QI QIRISPACE FOR ROUGH WORK

ARIAXR - 15 - MTH - P.1

P.T.O.
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b SET: | D

43. 1 +3+5+, ... +2] Q QIR 6R6C ? 43. Whatis thesumof 1 +3+5+. ... +2]
(A) 441 (B) 169 (A) 441 (B) 169
() 121 (D) 144 (C) 121 (D) 144
44 L +—l— + l +... 14 5 Q00 44. Find the sum upto 14 terms of the sequence.
' §x6h 6xT Tx8 | i ]
b —F ...
CAIITS QA oo sx6 6x7 Tx8
14 13 14 13
— — — (B) —
%) 33 ® 3 (A) 55 90
2 3 L2 D) —
() s (D) 20 (C) T 20
45. Qof @Q: 45. Simplify :
tan (55° - o) cot(35° + o) tan (55° - o) —cot (35° + )
(A) 0 (B) | (A) 0 (B) 1
2 Z
© F D) 243 (©) " (D) 2V3
46. cos(A-B)-cos(A+B)= : 46 cos(A-B)-cos(A+B)=_____
(A) 2«0s A. cos B (B) 2 sin Axcos B (A) 2cosA.cosB (B) 2 sin A. cos B
2 cos A.sin B (D) 2&?&& sin B (C) 2cosA.sinB (D) 2sinA.sin B
&
47. 9% ABC 6 PQR @9‘5‘&@ 47. 1fin two triangles ABC and PQR,
AB_BCCAGN coe AB _BC_CA hen
QR PR PQ QR PR PQ o
(A) APQR~ACAB (A) APQR ~ACAB
(B) 6R~.-1\.ABC (B} APQR ~ AABC
(€)' ACBA ~ APQR (C) ACBA~ APQR
(D) ABCA ~ APQR (D) ABCA~APQR
e
QT 968G QIR/SPACE FOR ROUGH WORK
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48. AABC ~ ADFE, ZA =30°, £C = 50°,
AB=56Q8,AC=86Q¢ B DF=7.56Q§,
sqi?ﬁé AR 696F Q64 ?

(X) DE-=126Q@, £F = 50°
(B) DE=126Q8., £F =100°

(C) EF =126, ZD =100°
(D) EF=126Q8., /D =30°

49. GRIOR 6AY A ¥4 @' Fda
QRUYRRI ?
(%) <9
(B) qaig
(C) quel

(D) oRae

50. QO QQ QAMICRIQ ARIAIR 2.6 G, 6069

SET: [ D

48. AABC ~ ADFE, ZA =30°, £C = 50°,
AB=5cm, AC=8cmand DF =7.5 c¢m,
which of the following is true ?

(A) DE=12cm, £F = 50°
(B) DE=12c¢m, £F =100°
(C) EF=12cm, £D =100°
(D) EF=12cm, £D = 30°

49. What can be determined using ogive curve ?
(A) Range
(B) Mean
(C) Median
(D)~ Mode

50. If the mean of the following distribution is

P QIR fga el 2.6, then find the value of p.
S
AT 1 | 2 &Qe;\\df 5 Score I 2| p| 4|5
\)
QRqeel | 3 g @* 14] 2 Frequency| 3 [ 3 | 1 | 1 | 2
(A) 2 9 3 (A) 2 (B) 3
(C) 26 D). 28 ©) 26 (D) 2.8
AR/AXR - 15-MTH =P-I 15
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